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V Semester B.Com. Examination, March 2023
(CBCS - 2022 - 23 and Onwards) (Fresh)

COMMERCE
Paper—53: Iindlan Accounting Standards (IAS)
Max. Marks : 70

Time : 3 Hours
Answers should be written completely either In
English orin Kannada.

Instruction :

SECTION -A
i - 9

Answer any flve sub-questions. Each sub-question carries 2 marks. (5%2=10)

nRmoEte § wa-Zgnen cuZoN. B eoR-2 e 2 L08nL0.
1. a) Expand IASB and MCA.
IASB &%) MCARYSY NZON.

b) What are inventorles as per Ind AS-217
Ind AS-20 5,520 X08> Q0TTeD ?

c) What s Financlal Statement ?
BrowoRd aﬁa{,aoo‘deab ?

d) Mention any two examples of other income.
938 MODT CIRFHTTECR QO YRBTRNVR) 30N,

e) Give the meaning of accounting policies as per Ind-AS-16.
Ind-AS-165 J,%0 dd'aﬁg, Qv PSR VA

f) Mention any two objectives of IFRS.
IFRSR cdnpmomtn oo erut;;wm#q JON.

g) Glve the meaning of contingent liability.
MorgaIReod umu%om Lpr 30N,

P.T.O.
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SEGTION - B
SRR -1
Answer any 3 questions. Each question carrles 5 marks. (3x5=15)

AdRJI=T3NR 3 a},gﬁod wU3oN. B I ‘54 nr 5 Losnv.

2. Briefly explain limitations of accounting standard.
KNS, Inscors IRV RN DWOAD.

3. Who are the users of financial statement ?
. oY B :5&.39'33 m‘dmddagl 308,

4. Difference between provisions and contingent liabllity.
SLEPIried B ZogNeod BDOWRONY I ANYRY 30N,

S. Pranav Limited Co. has a machine whose original cost is ¥ 2,40,000 and

accumulated depreciation amounted ¥ 24,000. Another company sold similar
plant for ¥ 95,000 and the selling expenditure amounted to T 17,500. The
management has determined the value in use of the plant of ¥ 1,02,500.
Calculate the impairment loss.
B,65° DB BoTAD 2.0 RS0T Fwee 38 T 2,40,000 R oI XTEe
324,000. 330 2, 0T FOTV0T0 [Tde beéod:"aﬁdasa) Y95 0006:0303&3 RRBT IO
[RTEIT DdF T 17,500 S, s csrs@s mod'oodw Gq ADalela] Uuadod.faerid
ddocbm ¥ 1,02,500 20 aﬂowmd S0l DDwred mm F0RLABOND.

6. From the following particulars of Pramod Co., prepare a statement of P & L for
the year ended 31-3-2022 as per Schedule |1l of Companies Act, 2013.

Particulars LY
Revenue from operations 39,000
Cost of material consumed 24,500
Other income 6,000
Changes in inventory 2,500
Changes in WIP 1,500
Finance cost

1,000
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Employees benefit 2,000
Depreciation and amortisation 3,000
Other expenses 500
Income tax expenses 1,200
Non-controlling interest 4,000

OF08 31-3-2022 O 03,4 oned domRod ooyl JoB) I St o YoTROD
£203y, 20130 wain, o Il So3 Scinor.

WRTAW T
B, FTB000T 20T BB 39,000
AT, MY evscdnent i, 24,500
Q38 STocd 6,000
TR0 WECRREBNED 2,500
WIP wgenmsngd 1,500
BEFTOAS aiz:é 1,000
LI37 dantele R Spth! 2,000
AT TR esaoed Fedema’ 3,000
338 deﬂb 500
Slaplevelcioly] 525,]{'.13 1,200
DoD03, £8 LITRT WG, 4,000
SECTION-C
N - &
Answer any three questions. Each question carries 12 marks. (3x12=38)

cinesce 3 Prien euson. B3 FAne 12 vosneb.

7. a) List out any 10 Ind-AS Issued by ICAL.
ICAI Broaas odnFymemce 10 Ind-AS Tl Sna.

b) Describe the relevance and benefits of convergence of Ind-AS with IFRS.
goodeod> S8 aneed (Ind-AS) ¥ IFRS S 8RmRIT trig2rdded usws
0B VFERONER) DOA.
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8. a) Mention the disclosure of information in the financial statements.
BT Rndodads wi wbdonsazs SCBRYRY vugdedn.

b) Briefly explain the needs and objectives of financial statements.
TeotAR Te3od SOUAIS Y WEEBnT) Ted N JTVD.

9. a) Briefly explain the disclosure of provisions under Ind-AS-37, provisions,
contingent assets and contingent liabilities.

DO, FoymReats U3 S0 BN Ind-AS-37 o sachY
WhoonTaz ooty E’ocmoc:z;mmfafgl N3 TN DTON.

b) Pranav Co. has purchased an equipment for ts manufacturing unit. The
price paid for the equipmentis ¥ 1,10,000 inclusive of GST of ¥ 19,800. The

company gets a credit of GST, while calculating tax payable on finished
goods sold.

The additional cost incurred are :
Frieght ¥ 2,250

Customs duty ¥ 2,000
Installation expenses ¥ 1,500

Estimated cost of dismantiing and removing the item would be X 750. After
the equipment was Put into use ¥ 5,500 was spent for cleaning the spare
parts. Calculate the cost of PPE as per Ind-AS-16.

T, 00° BoTROIW 3, HUTT PUTE w03 aDoII T 1,10,000 Y SRa
S0DeONTS D) Bs SoQ GST T 19,800 S Bedd. Bomnodny AT S
BRI SPY,T oeed TR S I Sedodg 31 GST 308 WA,

BBC DWFTITD & 0ed 533 ;

aoned mon X 2,250

B 2o X 2,000

LRl Xos T 1,500

SRS Zore Beo Tt omony ST 750. D0, tesiodeend vesarg

=oed POATS 0B RNy Zps 33 T 5,500, Ind-AS-16 T80 abog 3 Yooy
ToRO&HAWD,
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10. &) Mentlon the disclosure requirement of operating segments of financial
statements under Ind-AS 115,

Ind-AS 1158 mcdnrcmod woriny 533, 5300 T LIV BrowOAT TeIodd
GACHY, vuededn,

b) Calculate the borrowing cost of Excel Ltd. Co.

l) X 8 crores arranged by Issuing 8% debentures repayable after 10 years.

Il) X 3 crores by a loan from IDBI with 10 years term at interest of 10% p.a.
) * 3 crores overdraft from Canara Bank at interest of 10% p.a.
lv) Cost of Issue of debentures Is ¥ 15,00,000.
v) Processing and consultancy charges for IDBI loan — 5% of loan.

vl) Debentures are repayable at 5% premium.

S ©, Bomodh oL VR YomolRc0.
) 8 doett 2o, 8 TUTY Y Raoud B IRFLIND To SO 10 JIFTW.

l) ¥ 3 daetd 10 IRFrv IDBI o Sowed JH =X wa oo 2e. 10 I
wurd,

lil) X 3 doett 4300 w080 Qedvs ad Sovwod JmR wa oo Be. 10 I
=Ry,

lv) Mmoo, @oesd 5y X 15,00,000.

v) IDBI mon I3,0d &%) Zod Aesw By, - oon Soed de. 5.
Vi) OTI,E &0 ToTS &, 00T e, 5,

11. a) Calculate the carrying cost of machinery and write notes.
On 1* July 2022 Pramod manufacturers spent ¥ 24,000 to replace their
machinery. The machinery had been acquired 2.5 years back and had
a carrying value at July 2020, amounting to ¥ 57,750 of their amount to

¥ 5,260 related to original machinery.

ooZ,NY TNTLT SYFR Jend SR T WK e oD,

1 &0 2022 gomd FReem iRy Iy oy vy Edze T 24,000
DUF TRALZS, B4 Qﬂaogdagt 2.5 SWFRY Lotdodoe ngpcawmﬂmoad%
=) g 2020 0Q, WS WAT JeIY ¥ 57,750 NR), &g, Rew
oo, ner Fowoord BRI T 5,250 nvInvrroad3s.
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b) From the following prepare a statement of financial position on 31-3-2022

under Companies Act, 2013.

Debit ¥ Credit 3
Tangible Assets 6,00,000 ESC 9,00,000
Intangible Assets 2,00,000 GR 3,00,000
Current investments 2,00,000 P&L Alc 3,00,000
Other non-current Investments 2,00,000 Non-current liabllities 5,00,000
Trade Recelivables 2,50,000 Current liabilities 3,50,000
Stock 4,00,000
Cash 1,00,000

19,50,000 19,50,000
B4 89803 Rndoor 31-3-2022 Sordd Heawod TLIODT Bodnon (Yo
Toolozs 20133 T[,800).
aed Ll ~ 13 L4
AR Y 6,00,000 Hedb woEmow 5,00,000
EPIETQE ey 2,00,000 IR, AQ 3,00,000
O BRI 2,00,000 word-IN, 008 3,00,000
WYoLYH a¥Be BodEnw 2,00,000 wdchen Bonmod  5,00,000
39, T000T wotdemr Hooanw 2,50,000 Y BeNmod 3,50,000
XOW xR 4,00,000
Sncd 1,00,000

19,50,000 19,50,000
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-7-
SECTION-D
MR-

Answer the following question, carries nine marks. (1x9=9)
8INS T3 1t wuZon, 9 eosri.

12. Prepare the statement of changes in equity of any five companies.
odnYrie b Yomod TORRT, Redoriv wrerRrod Beedod Fod0N.

OR

List out the countries that adopted and converged with IFRS around the world.
IFRS 8001 Jomoas So%) evmans DBeBRYRY Ted WRA.
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